
Optimized Codebook Based Hybrid 
Beamforming

JUAN VIDAL ALEGRÍA
MASTER´S THESIS
DEPARTMENT OF ELECTRICAL AND INFORMATION TECHNOLOGY
FACULTY OF ENGINEERING | LTH | LUND UNIVERSITY

Printed by Tryckeriet i E-huset, Lund 2018

JU
A

N
 V

ID
A

L A
LEG

R
ÍA

O
ptim

ized C
odebook B

ased H
ybrid B

eam
form

ing
LU

N
D

 2018

Series of Master’s theses
Department of Electrical and Information Technology

LU/LTH-EIT 2018-678
http://www.eit.lth.se



��������� 	
���

� 
���� ������ 
����
�����

���� ����� 	�
��
�

���������	��	
����
����	����

����������
����
���	���


�
�����
�� �� ��
������� ��� ����������� �
��������

���� ����
�����

���
�������  �
 ������

�!����
�� "�
���# $��
#

�
�
�%
� &'( )*&+



�© ����

���	
�� �	 
����	

���������
 � ������
� ��	�



��������

�� ���� ������ �� 	���
	�� ��

��	
��� �
�
�������� �� ��� ��� �������� ����

����	
� 
�����
� �� 
 �� ����
	���

�� ����� 
 �����
 
���� �
��� �� ��� ��� �� ��
�� ��������� ��
� 
����

�� ��
��� ��� 	
��
���� �
���	�� �� ��� 
		
�� �� 
�����
� ����
���� �� ��� ���

������ ���� �����
 
���� �� ���
�� ����
�!�� ��������� �� ��	
� �� ��� 
��"

	��� ����� �� �������	 �� �� �� ����	��� �� ���� ����
	�� �
������� ��� ��#�	���

����
�!
���� 
��	�
����� �� ��� ����� 	������ �� 
�
��!� ��	���� ��
��
����� 

��� ����

���� ��	��	

��� �� 
� $�$ ����

���� ����
	��� �� 
��� 
�
��!� ���

��������� ��	��	

��� �� 	�������� ��� ����
� ��
� �
� 
���� �� �� ����

�� ���

$�$�

%� 
� �� �
�� 
�	� ������� ���� ��� ��� ��������� �� ��� ����
�
 ��������


#���� ��� ��������� ��	��	

��� �� ����� 
 ��
���	 ����
	�� 
�� �� 
�
��!� ��

����	����
��� 
�� �	
� ����������� ��
� 	��
�� �� ��� ��
��
����� ���
�����

�



��



������� �	
��	� ��

���

���� ��� ��	�
 ����� 
��	�� ������ ��������� �� ��� ��	�
� ����� ��� ���
���	��� �	�� �
��� ������� ���� ��� 
�� ��	�� 
��� 	� � ������ ���� �� ���� 	�
��� ����
��� �� ���� ��
�� ����� ���	��� ����� �� ���� �� 
�
� ����� ������

���� ���� ����� ���� ���� ����� ���� 	� ��� ���� ���
�� ��� ����� ���� ���
���
 �� ���� ��
� �	
��� ��
��� ���� �� ����
�� �� �����	��� ���� ����	��� ��
	������� �������	��� ���� ���� ��� ���� 
��	�� ������ ���	����� ������ � �����
���� !�������� �������� ��� ������ ��	�
 �� � 
��	�� ����� �	����� 	�������
�������	�� �� ��� ���	�� 
��	� �� �����
 �	���� �� 
��	��

"� �� ��	�
 ����� ��� ��	�	��� �����	����	�	�� �� 
��	�� ������� 	���� �����
����� ��� ����� ���� ��� #��� 
	��� �������� 	� ��� ��� 
��	�� ������ $�� �
���%
������& ���� ��� ����	�� �����	����� �� ���� ����	�� �	������ ������� ��� 	�������
�������	��� "� ���	�	��� ��� ��
��� �� ���	��� ��������� �� ��� 
��	�� ������

	� 	������	�� �� ���� ������ ��� ���� 
��� ������ ���� ������ �� �
��������� ���
$��
� ������ ���� ���� 
��� ���� ���&� ��� ���� ��� ���	��� ��� ����	�� ���������
�� ��	� ������
 	�����	�� �������� �'�� ����� ���������� (�� ����� ���	��� ����	��
�	�� ���� ����� �� ��� ���	� ����	��� �
������� ��� �	�� ��� ������� ������
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�� ������ ���
��� �� ����
 ϑ ���� ��

���
��� ����� �� �
�
��
� ��

z = a(ϑ)x+ n, "#�$%

��
�
 x ����
�	���� �� � �����
���
� ��
���� n �� !&'(� ��� a(ϑ) �� ��
 �����
�
�	���
 �� ��
 ���
����� ϑ� ����� ��� �
 
)	�
��
� �� *$+,

a(ϑ) =
[
1 ejπ sin(ϑ) ... ej Nπ sin(ϑ)

]T
. "#�#%

��
 	����	���
��
� ������ ���
� ��
 	���
 ����� 
����
 ��

y = F (ϑ)x+ ñ, "#�-%

��
�
 F (ϑ) �� �
��
� �� ��
 ����� ������ *$+,� ��� ñ �� ����� !&'(� ��
 �����
������ �� � �
����
� ��
 �� ��
 ����� �
�	���
 ��� 
��� ���
��� 
�


��� ��

����� ������ �� ��� ��
������ �� �
��
� �� .����
 #�$� ��� �� ����
 �� ������� "!�!%
ϑ ∈ [−π/2, π/2]� �� ���
� ��

F (ϑ) = wTa(ϑ), "#�+%

��
�
 w ����
��� ��
 ������
 ��
	�
) 	���
 ������ ��� 
��� ���
��� 
�


��

w =
[
ejϕ1 ejϕ2 ... ejϕN

]T
, "#�/%

�



� ����� ��	
��

��� ����
��	����

��� ϕk ∈ [0, 2π]� ���� �	��
 �� �	�� ��
������
 w �� ��� ����������
 �� �	�� ñ 	��
�������� N ����� �	� �������� �� nn� �������
 �	�� ����� ����� �	� ������� �� �	��
�	�����
 ��� �� ��� �������� � ������� ������ �� 1√

N
��� w �� �� ���� �� ����� �	��

����� �	� ����� ���� ��
������ �	�� �� ���� ��� ��

G(ϑ) = |F (ϑ)|2 = wTa(ϑ)wHa∗(ϑ). ��� !

"� �� �������� w �� �	� ���� ���#! �� �	�� �	� ����� �� �����������
 G(ϑ) �� ��$%
������ �	�� w = a∗(ϑ)
 �	��	 ����������� �� ������� ϕn = nπ sin(ϑ)� �������

�� �������
 �	� ������ w ��� ���� &� �	���� ���� � ������� ���� "� ��� �������� ��
���� 	��� � ������� ���&�� L �� �	��� ���&��������
 ����
 �	� ������ w ��� ����
&� �	���� ���� � ������ ��� {wl}Ll=1
 	��� ������� �� ����&��'
 �	���

wl =
[
ejϕ1,l ejϕ2,l ... ejϕN,l

]T
���(!

����������� �� � ��������
 �	��	 ����� �� ����� ���� Gl(ϑ) �� �	� ��������� ϑ� �	��
����� �	�� �	� �	��� �	��� ������� ���� ��'� ������ {ϕ1,l, ..., ϕN,l} ∈ [0, 2π]N , l =
1, ..., L.

������ ��	
 ����� ��	�
	
 �� ��� ���

"� �	�� �	����� �� ���� ����� �� �&������� ������� ����&��'�
 �� ����� �� �	�
��� ����������� ������� �	�� �� ���� ��
��
 ��� �������� ������ �� L ��� N � �	�
���&������� �� �	� ����� ����� ��� ��� �	� wl �� � ����&��' ��� ��� �	� ����������
�� �	� ����� ���������� ��� &� ���������� �� � ����� ����� ���� ��� �	�� ����&��'

GT(ϑ) = max
l∈[1,L]

Gl(ϑ) = max
l∈[1,L]

wT
l a(ϑ)w

H
l a∗(ϑ). ���)!

��� ������� ���� &� ���������� �� ��������� 	�� ���� � 
���� ����&��' ���
������� ���	 ������� �� � ���� *+, �������	- �	� ������� ���� ��� �	� ��$����
����� .� ���� ������� �	��� ��� �������� ��$�� /����� ��� �	��� � ����	���� ��� ��
�	��� ��������

����� �����	� 
���

0� ������� ���� �� ���� �	� ������� ���� �� �	� ����� ����� ���� GT(ϑ) ���	 �������
�� �	� *+, ����� ���� �	����	��� ��� �	� ���������� �� �	� ����� ���������� Ω
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����� �� ���� ���	
� ��� ��
�
��� ����� �� �� 	�����
�� �������	��� �� Ω� ��
������� ��� ������� ���� �� �� ��� ����� �� ���
���� ��

Lavg = 10 log10

(
1

SΩ

∫
Ω

GMRC

GT(ϑ)
dϑ

)
, �����

����� SΩ �� ��� ���� �� ��� ���
� 
��������� ���
� �� ��� ��
���
��� ������� ��
������� ���
 ��� ���� ��
������ ��� ϑ� ��� GMRC �� ��� ����� ���� �������� ����
	���� !"#

GMRC = aHa(ϑ)aTa∗(ϑ) = N2, ���$%�

���
� ������� ���� �� ��� �	
��� �� �������� ��� 
�	�� �� �
���� �� � ��&�����
�������
� �
����	�� �� 
����������

����� �����	� 
���

�� 
���
	
 ���� �� 
��� ��� 
���
	
 ���� �� ��� ����� ����� ���� GT(ϑ) ����
�����
� �� ��� !"# ����� ����� '� ���� ���� ��������� �� �� �
��� ��� 
�
�	���
��

Lmax = max
ϑ∈Ω

[
10 log10

(
GMRC

GT(ϑ)

)]
. ���$$�

(�� ��� ��������� �� ��� �����
�� ���
� �� ���� ���	
� ���� ��� ������� ����� ��
��� )* �� ���
�� ����� ��� X ����� '� �� 
������� ��� ������
�� 
���������� φ ��� θ 
��� φ = 0 ϑ ��	�� 
��������� ����
��� �� ��� ������
�� 
��������� θ� +���� ��������
������ ���� �� 	��� ��� ���� θ 
��������� Ω60◦ = [−30◦, 30◦] Ω100◦ = [−50◦, 50◦]
��� Ω140◦ = [−70◦, 70◦]� +��� ���� ��� 	� ������� ��� �&�
�� �� 
������� ��� �����
�� ��� ���
� 
��������� ���� SΩ �� ��� ���	��� ��������� '��	������� ��� ��������
��� ���
� �� 
������� ��� ����� 
������, ���� L ���� �� ������ �� ������ ����
���	��� ��� Lavg ��� Lmax� '� � ���� �
������ ��� ���
� �� ��
���� �� ��� ���
-
����� �� ��� ��������� ���
��� �� ��� ����� �� ���
� �� 
������� � 
����
���� ��
������ �	� ���	��� 
�� 
���� �����	� ������� ���
��� �
���
����������

'� ��� 
��� �� � �. ����� ��� ����� ���� �� ���������� �� ��� XY ����� ��� ���
��
�
��� ����� ��	�� 
��������� �� � 
�
�������� �� ��� ������
�� 
���������� θ
��� φ� /	� �������� 
�� �� �������� ����
��� �� �������� ��� ���
	������ �� ���
����� �������� �

��������� '� ���� 
��� ��� θ ����� 
��������� ���� �� ��� ��
�
�� �� ��� ������	� ��� �	� ��� φ �� ���� 
������� ��� �	�� ����� φ ∈ [0, 180]�

��� �������	��
�

0� ����� 
������, ��	�� �� ��� ��� ���� ��
	������	��� 
���
���� ���� 
��-
��
� Lavg ��� Lmax� 1������ �� �� ��� ���	����� ������� ���� 
����
� 
�� ��
��
	������	��� 
���
���� ��� �� 
�� ����
� ���� ����� ��	�� �� �� ����
	

��������� ������ �������� '� ����� ����� ��� ����
�� 
������,� 
�� �� ��������
�� � 
����	��� 
����� �����-�& ������� Lavg ��� Lmax�
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������	
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�� �� �
 
�� wl = a∗(ϑl) ��� ��� ��� 
	���
� ��� 
�
{ϑl}Ll=1 ���� ��������� Lavg �
� � ����� ���
� 
� Lmax� ���� 	��������� �����
�
 ������ � ��� 
� ������ ����� ��� ��� �		�
��� ���� �� �		����� �� ���� ���
�������� ������ �
��� ��
� ��
�� �������
��� �
 
	������ ��� �
��� ����� ���� ��
��� �	��� �
��������� �� ����� ��������� �� �

�� �
����	
�� �
 ����� ��� ����
�
�� 
� ��� �������
� 	������ �
����� �	����� �������
�� ������ �� {ϑl}Ll=1� �
 ���

	��������
� 	�
���� �

�� ��

min
{ϑl}L

l=1

Lavg =
1

SΩ

∫
Ω

GMRC

GT(ϑ)
dϑ  !�"!�#

s.t. Lmax = α,  !�"!�#

����� α �� ��� ������� Lmax ���
�� ��� �� ���� ����

GT(ϑ) = max
l∈[1,L]

aH(ϑl)a(ϑ)a
T (ϑl)a

∗(ϑ).  !�"$#

���� 
	��������
� �		�
��� �� ���������� �� ��� ���� ���� 
��� �	����� ���
�� 
�
wl ��� �
��������� �
 ���� ��� ����� ��� 	���
������ 
� ��� ������� %��
� ��� �
��
�������� ��������� �� ��� &'� ��� ����
��� ��� ���� �
�� 
� ��� �������
� 	�������
��
� � ������� L �

�� �� ������ �
 
����� � �

� 	���
������� (
������ ���� ��
��� �
�� �
��
� �		�
��� �
� �
 ��� 	������� ���	������)�� ��� �� �� ���	�� ��
�
 ������ ��� �	��� ���
 L �����
�� ��� ����� ���� wl �
 	
��� �
 
�� �����
��

��� 
	��������
� 	�
���� �� 
��������� �
 �
��� �� ��
��� �
��� �
 ������� �
*
������� 
	��������
� ����
�� ���� ���� ������ 
�������� 	

� ���
���� ������
���
��� ���
����� 
��� �� ��� ��� �
������ 
� � ����
� ������� �� ����� �� 
�� ��
����� 107 �������
��� '��� �������
� �

�� ���� � ���
� 
� ��� 	��� Lavg� Lmax ��
����
��� ��

���� {ϑl}Ll=1� +� ���� ��
�� 
��� ��� 
	���
� {ϑl}Ll=1 �� �����

� Lavg �
� ����� 	
������ ���
� 
� Lmax �� � ���� ���� 0.1dB �	������ %�� ���
	
������ �
�������
�� Lavg ��� Lmax 
������� ���� ���
 �� ��
��� �
 �� ���� �
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 �����
��� � �� 	���
�� 	��������� ���
��
� �	�
�
���
�
 �����
����

��������	 
 ���������� ��	 
�� �
��	�
� ��
�����
��
 ����	�
���

�� ��� i = 1→ 107 ��
�� ��
 	�
��� {ϑl}Ll=1

�� �����
� Lavg � Lmax

�� L(i, 1)← Lavg

�� L(i, 2)← Lmax

�� R(i)← {ϑl}Ll=1

�� ��� α = 0→∞ ��
� �
��� �� ��� ��

	� nα = argmini L(i, 1), s.t. L(i, 2) = α

� ���� {ϑl}Ll=1 = R(nα)

����� ���� ��	
� ���
�
�	�
��

��� ����
� �		����� ����� �� �� ��
�
��� �
� 	���
��� ����

��
�
 �� 	�����
��� ����� �������� wl� �
 ��� ����� ����� ��
� �	�
�
���
�
 ����� �
�� ��� ����
�����
�
 �� ��� �����

� �	�
�
���
�
 �

�� 
� 

������ ��� ����� ����� wl = a∗(ϑl)�
��� �	�
�
���
�
 ��
 �� ���
 ���������� ��

min
{ϕ1,l,...,ϕN,l}L

l=1

Lavg =
1

SΩ

∫
Ω

GMRC

GT(ϑ)
dϑ ������ 

s.t. Lmax = α, ������ 

����� �� ��
 ��� ���� ��� �
�� ��

� ���� ���
��� �
�� ���	��� �� ��� 	���
��� ����

� ���� GT(ϑ) ������	�
�� �� ���! � ����� {ϕ1,l, ..., ϕN,l}Ll=1 ��� 
� �����
��
�
��

���� ϕn,l ��
 ��"� �
� 
����� ������
 0 �
� 2π� #� �
�� ������ �
���� ����
ϕ1,l = 0 
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 ���������� ��	 
�� ��	� ��
�� ��
����

��� 
���	�
���

�� ��� i = 1→ 108 ��	 ��	�� ��

�� ��
 	
���� {ϕ1,l, ..., ϕN,l}Ll=1

�� �����
� Lavg � Lmax

�� L(i, 1)← Lavg

�� L(i, 2)← Lmax

�� R(i)← {ϑl}Ll=1

�� ��� α = 0→∞ ��
� �
��� �� ��� ��

	� nα = argmini L(i, 1), s.t. L(i, 2) = α

� �
�� {ϕ1,l, ..., ϕN,l}Ll=1 = R(nα)

��� �����	�

�� ���� �����	� ��� 
������ 	
 ��� 	���������	� �
	����� ������ �
���	���� �
� �
��
������� �	
 ��� ��������	� �� ���� �	�����
�� � ������� 	
 1◦ �� ��� θ �		
�������
��� 2◦ �� ��� φ �		
������ 
	
 ��� �� �

���� ��� �
�����	� �	�����
�� 
	
 ���

������ 	
 Lavg ��� Lmax �� 0.1dB�

����� �� �	������ ��� ��� 	������ ������ 	������� �� ��
�� 	
 Lavg ��� Lmax
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���� �� �	�� 
��� ������� ��� 
��� ����� ��	� ����� 	� � "#$ ����� 	�
��� ����� Ω140◦ ��� ��� 

���

� �	�� L 	� �%��� �
 &� '�	� 	� ��	��� ��
���� 	� 	�
� �	���� 
��� ��� ��� ������� ��� 	�������	�� ���� �#��
�	�� ��� �����
( �������
��� ��
 ����
����
� ����	
� ���� ���� ���� 
��	�	����

�� ��	� 
���! �� �	�� ��� 
�� �

�� 
� ��� �
� )
� *+�, ���	���	
� ��	�� ���
������� ��
� ��� ����	
�� 
������� '�	� 	� � 

��
� ��� 
��� ���� 	� 
� 	�������
�
�� 	� ����� 
� �
�	�	
�	�� -$.! $/0! ��� 	� ����� 
� �	�	�	�	�� ��� �
	��	�� �
����
������� ��� � ��� ��� 12 -$30� �� �	�� ����� �
� ��� ������� ��
� ��� 4������
& �(�
� �
� ���	���	
��

�� �	�� ������ ���� � �	�
� �	���� 	� ������	���� ��
� ��� 12 �
 ��� � � '��	��
��� ����
����� �������	
� -$50! ��� 

��	���	�� ��� ���� �
����	
 ���
�	��� 	�
6	���� &�$! ��� ���	�	�� �	���� �� ��� � 
�� �� ���� �� 7��� � ”1” ����	��	�� ��
��� ����� ����
��� ���� �
	��� 2
 �� �
��� ���� �� 	�

�	�� �	���� �� �	����
� l

zl(ϑ) = a(ϑ) + nl, )8�$,

����� a(ϑ) 	� ������ �� 	� )&�&, �	�� N = 4 	� ��	� 
��� )��� ��
�
� zl ��� ������
��
�	�� N×1,! ϑ 

�����
��� �
 ��� �
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 ���	����! ��� nl 	� 

����#
��9: �	���	����� ��

nl ∼ CN (0, N0I) . )8�&,

 �
� 
� ��� ����� 

���
��� 	��	�� ��� ���	��� ����� 

���

� ��
� ��� 
���

���	��� 	� ��� ����	
�� 
������ �	�� �� ����	�� �
 ��	� �	����! ���	�� �� ����
�	����
�� ����� ��� 

���
��� 	� ��� 

���

� )	� ��	� 
��� �� ��� 	��������� ���

��



�� ��� ����	
����

���� L = 2�� ��	� 	
�	 	
� ���� ��
��� �� 	������		�� ���� 	
� L 	������	� ��� ϑ ��
������� 	� �� ����	��	 ���� 	
��� 	������	�� �
�� ���� 
��� �� ���������	 ��������
��
���

y = W Ta(ϑ) + ñ, �����

�
��� W �� 	
� ��	��� �������	�� 	� � �
��� �������� ����
 	
� ��������� wl

���� ����� �� ������� ��� ����������
 �� �� ��	 	� �������� 	
� �����

W =

[
w1√
N

w2√
N

...
wL√
N

]
, ��� �

�
��� L = 2 ��� N = 4� ��	� 	
�	 	
� ��� ����� ���	�� 
�� ������	� �� 	
� ����

ñl = wT
l nl, ���!�

�� 	
�	 	
� 	�	�� ���	�� ñ 
�� ���	����	���

ñ ∼ CN (0, N0I) . ���"�

#���	��� ���"� 
���� 	��� ������� 	
� ���$��� �� nk ��� ����$�����	 ����
 ���

�	
��� %��	
������& 	
� ���������	��� ���������� �� W ���� ������ 	
�	 	
� �����
���$����	 ��	����� �� ���
 	��� ���	 �� ��	 ��$��'���

�
� ��	���	��� �� 	
� (�( ���� �� ���� ����
 )������ *�����
��� #�	���+
	��� �)*#� ����� 	
�� ��	���	��� �� ��,�$	�	�����, �$	���� -./0� �
�� ��	���	���
��������� 	
� ������
��� ����	��� ��'��� �� 	
� �����	����� 12% �� y 
���� 	
�
$�����	�� ϑ

L(ϑ) = p(y;ϑ). �����

�
�������& �� ��� ��$���� 	
� )* ��	���	�� ��

ϑ̂ML = argmax
ϑ

p(y;ϑ). ���3�

�
��� p(y;ϑ) �� 
���� �,

p(y;ϑ) =
1√

(πN0)L
exp

⎛
⎜⎜⎝−

∥∥∥y −W Ta(θ)
∥∥∥2

N0

⎞
⎟⎟⎠ . ���/�

4���� 	
�� ��	���	�� ��� �� �
��� 	� �� 	�� ��5���	 ��� ����,	�� ���$�	�	���&
�� ���� ��� � ��������� ��
���	
� 	� 
�	 � 
��� �$$������	� ����	��� ���	���� �
�
��
���	
� ���� �������	� L(ϑ) ���� � ����$ �� ϑ ������& �����	 	
� ����� �� ϑ 	
�	

���� 	
� ������� L(ϑ)& ��� ��'�� 	
� �����	 �, ����
 � ��� ����$ ������ 	
�
ϑ ��	����� ������ ��� 
�		��
 	
� ��� ϑ 	
�	 
���� 	
� ������� L(ϑ)�

��� 	
�	 �� 
��� ��'��� ��� ��	���	��� $������& �	 �� ��� ���� ��	����	 	� ���

�� 	
� ��6����	�, �$	������ ��������� ��	����� �� 	
� $������� �
�$	�� $������
�� 	
�� $������� �� �� ��& �� ���� 	��� 	
� ��	��� W �� ����� �� ��� �� 	
�
�$	������ ��������� ���� 7
�$	�� ��
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� Lmax� ��� ����� ���	 ����	 
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�����
���
�" �

�	 	������	 ��	 �	��
�����	 
� 	��� ����	 �
�	�

� �� ��	 #$% &#	��
$����	� %��
�' �
�����	� �� ��	 	�������
� ����� ���� �
�	�

� ���� �	��	��
�
 ��	 ���	 ����	

MSE(ϑ) = E{(ϑ̂− ϑ)2}. &(�)*'

$���	 �	 ��	 ���	�	��	� �� ��	 ��
�	 ����	 Ω140◦ �	 ���	 �
 ��	���	 ϑ 
�	� ����
����	 �������� ���� ��	 �
� �� ����
���+ ���������	� �� ���� ����	� $
 ���� ���	�
��

MSEavg =
1

SΩ

∫
Ω

MSE(ϑ)dϑ

=
1

140

∫ 70

−70

MSE(ϑ)dϑ. &(�))'

����� �	 ��� ��������
�� �
 ����+
	 ��	 �	��
�����	 
� 	��� 
� ��	 
�����
	�
�
�	�

�� �� �	��� 
� MSEavg �� �	,�	� �� &(�))'�

����� ����	
���
 ����	��

!� -����	 (�) �	 ��� �		 ��	 #$% �	����� �
� ��	 ���	�	���+ 
�����
	� �
�	�

���
��	 �	����� ��	 �����	���+ �
� �� �
�����	 �� �	 �
��� ���	 	.�	��	� �	�
�	�����

�� �	 ��� �		� �
� �
�	 $/0 ����	� ��	 ��		���� 
�����
���
� �	��
��� �	��	�
���� ��	 ���	 ����	 
�����
���
�� !� ��	 �	��
� �	�
� −10dB ��	 �	�� �
�	�

�
�� ��	 
�	 ���
����	� �
 ��	 ��		���� 
�����
���
� �
� Lmax� �� ��	 �	��
� �	��		�
−10dB ��� −2dB ��	 ���	 ����	 
�����
���
� �
� Lavg �� �	��� ����	 ��
�	 −2dB
��	 �	�� 
�	 �� ��	 �
�	�

� ���
����	� �
 ��	 ��		���� 
�����
���
� �
� Lavg�
����
��� ��	+ ��� �
��	��	 �
 MSEavg = 0 �� ��	 $/0 �� ��1��	���+ �����

��	�	 �	����� ���	 �	��	 ����	 �	 ��	 �
����	���� ���� ��	 ������ y(ϑ) �� �	���
�������� ��
�	��+ �� ��� ���	�� ���� �	��� ���� �� ��	 �	�	��	� ������ �� �
���� ��
�
�� ����	 ���� �
��	��
��� �
 � ������� �� ��	 �
��� ����+ ���� 
� 
�	 �
�	�

�
�	 �
��� ����� 	������	 ��� �
�� ����	 �� y(ϑ) �� ���
�� 0 �	 �
��� ��+ ���� ��	
�	�	��	� ������ �� �
���� ��
� 
�	 
� ��	 ���	���
�� ��	�	 �	 ���	 � ������� ��
GT(ϑ)� 2
�	�	�� �� � �	�� ��	����
 ���� �
��� �
� �	 �
�����	 ����	 ��	 ,��� ��	�
�
��� �	 �
 ��
� �� �	 ��	 �������+ �	�	����� ��+ ������ ��� ��	� �
 	������	 ��	
�
� ���
����	� �
 ���� ������� !� 
��	� �
���� �� �	 �
 �
� �	�	��	 ��+ ������ �	
��	 �
� ���	 �
 �
 �	�	�� ��+ �
�3 �	 �
��� ����	� ��+ ���� ��	 ������ �� ���	���



�� ��� ����	
����

������ ��	
 �
� �� ��� ����	
��� ��� ��� �������� ����	���� �����

������



��� ���������	 
�

��� ��������	 
�����
�	�� �� ��� ����
���� ���������

����� ����	
 � ���� �� �
� ���������	 ������� ��� �
� ��� ���������	 ��������	�� ��
�
� ��������� �	 �
� �������� ������	� �	� 	�����	
 �
�� �
��� ������� ��� ������	

������� ��������	� �� �	� �� �	�������	
 �� ���� � ���� �� 
�� �
��� ���������
�������� ������� �	 ����� �� ��������	 ��������	��� �
�� ���	� �
�� �� ���
�	�������� 	�� �	 �	���	
 �	��� �
��
 ��	�����	� ����� �
� ������	� ��������� ��
���� �� ������ �	 �	����	
 ��
	�� �	 �	� �� �
� �������� ���� �	������� �����������
�	 �
� ����� ���	��� �� ��� �
� ���� ������ ����� �� �� ���	�� �� �
� ��
�		�	

�� �
� �
������ ��� 	�� �� ���� ����� �	 �������	
 �� �
� �������� ��
	�� ����� �
�
�
��� �
��� �������� y ��	 �
�� ���� �
� ����	��	�� �	 ϑ ����	�� ��	���	 �� ��	��
�� ��� 	�� �	�������� �	 ��������	
 �� � ��	���	� �
� ��
	�� W Ta(ϑ) �� �� �� �� !���
	����� �
�� �� 
��� ��� �������� 
����
����

H0 : y = ñ �"�#$� 

H1 : y = W Ta(ϑ) + ñ, �"�#$� 

�
��� H0 ��������	�� �� ������	
 �
�� �
��� �� 	� �������� ��
	�� �
��� H1 ��%
����� �
�� �
��� �� � �������� ��
	�� �� � ������	 �	
��� &��� �
�� H1 �� � ���%
������ 
����
���� '$() �
��� ϑ ��	 ���� �	� ����� �	 �
� ����� ���	��� ��	��
ϑ ∼ U(−70, 70)�

�� ������� �
� ��������	�� �� �
� ������	� ������*�� ��������� �� �����	
�
� +,- ������ ���������� �� ���
 �� �
��� �
��� ������ ������ PD �	� PFA�
���	�� ������������ �� �
� ����������� �� �������	
 �
� ��
	�� �
�	 �� �� �����	��
�	� �
� ����������� �� �������	
 � ��
	�� �
�	 �� �� 	�� �����	� ������ ����� �

�������	
 �� �
� &����	%.�����	 ����� '$()� �� ��/���*� PD ��� � 
���	
PFA� H1 �
���� �� �������� ��

L(y) =
p(y;H1)

p(y;H0)
> γ, �"�#" 

�
��� γ �� ������� �� �
� 
���	 PFA �
���



PFA =

∫
L(y)>γ

p(y;H0)dy �"�#0 

�
��� PD �� �����	�� ��

PD =

∫
L(y)>γ

p(y;H1)dy. �"�#1 

�
� .23 �	��� H0 �� 
���	 �������� ��

p(y;H0) =
1

(πN0)L
exp

(
−‖y‖

2

N0

)
�"�#4 

‖y‖2 =

L∑
i=1

|yi|2 �"�#5 



�� ��� �����	���


���� L = 2 �� ���� ���	
 ����	�
������ �� ��	 ����	� �� ���	����� �� ��	 ���	����

��� ���� ��	 �	���� �� �	���� y�

��� ��	 ��� ���	� H1
 ����	 �� �� � ���
����	 ��
���	��� ���� � ������
�������	 �	 �		� �� ���	 � ���	�	�� �

������ �	 ���	 ��� 
����������	�
 ��	
���	���� �

����� ��� ��	 � !" #�	�	����$	�  ��	������ !���� "	��% �

������
"�	 ���	���� �

����� �������� �� �	&���� p(y;H1) ��

p(y;H1) =

∫
Ω

p(y|ϑ;H1)p(ϑ)dϑ

=
1

140

∫ 70

−70

p(y|ϑ;H1)dϑ, #'�()%

��	�	 p(y|ϑ;H1) 	*����

p(y|ϑ;H1) =
1

(πN0)L
exp

⎛
⎜⎜⎝−

∥∥∥y −W Ta(θ)
∥∥∥2

N0

⎞
⎟⎟⎠ . #'�(+%

"�	 � !" #�	�	����$	�  ��	������ !���� "	��% �

����� �������� �� &��� ��������

H1 ��� ��������� ϑ̂ �� ��	 , -
 ��� ��	� �	&���� p(y;H1) ��

p(y;H1) = p(y|ϑ̂;H1). #'�./%

�	 ���� �	 ����� ��	 ���	���� �

����� ����	 �� ��	�� � �	��	� 
	��������	 #��0
������ �	 ���� ���� ��	�� ��	 � !" �� ���
��	 ��	�%�

���� ��	�	 ������	�������
 �	 ��� ����������� �� ������ ��	 !12 ����	� ��0
������	� �� ��	 ���	�	�� ���	������ "� �� ��
 �	 ���
��	 p(y;H1) ��� p(y;H0)
��� � ����	� �� �	���$������ �� y
 ������	���� ���� ���� ñ ��� ϑ ��	 ������
 ���
�	� ��	 PFA ��� PD ����� #'�('% ��� � ��		
 �� γ ����	��

����� �����	
��� 
����
�

3� �����	� '�.0'�4 �	 ���� ��	 !12 ����	� �	������� ���� ��	 ����������� ��� ���0
�	�	�� 56! ����	�� �	 ��� �		 ���� �� �	�	��� ��	 ����	� ��������	� �� ���	�����
����� 
��	 
���	 �
����$����� 
	����� �	��	�
 ��� ���	 �
	��&����� ��	 ��	 �
��0
��$��� Lmax �� �	�	����� ��	 �	��� 7��	�	�
 �� �	 ���	 � ����	 ���� �� ��	 ����	�
��� ��� 56!
 �
	������ �� �����	 '�.
 �	 �����	 ���� ��� ��� PFA ����	� #�� �	�	���
�	 ����� ���	 � ��� PFA ����	 �� ���� �	 ���8� ����	 	�	��� �� ������ �� �	���	
����	% ��	 ����	� ����� 	��� ���	� ��� ��	 ��		���� �
����$����� ��� Lavg 
	������
�	��	� ���� ��	 �	�� �� ���	 ���	�� "��� ���� �� 	�������	� �� 56! ��	� ����	
0dB
 ��� �	 �		 ���� ��	 
	��������	 �� 
��	 
���	 �
����$����� �	�� � ��	��	�
���� �� �	�	����� 
	��������	 �� 56! ����� ����� ��	 ����	� �	��� �� �������	 ��
56! ��	� 10dB� "��� ���������� ��� ��

	� ��	� ��	 56! �� ��9��	���� ����
�� ���� ��	 �	�	��	� 
��	� �� ���� 	����� 	�	� �� ��	 ���	������ ��	�	 ��	 �����
����� ���� �	���	� ��	 ����	 Lmax�



SNR =
−5dB

SNR =
0dB



�� ��� ����	
����

������ ��	
 �
� ������ ��� ��� ����	���� ��������� 
� SNR =
2.5dB�

������ ���
 �
� ������ ��� ��� ����	���� ��������� 
� SNR =
5dB�



��� ���������	 
�

������ ��	
 �
� ������ ��� ��� ��������� ��������� �� SNR =
10dB�

��� �����	
��� 
������
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 �����
 	
��
�� �
�
�����! ��� ��� ��� ��
 ���
����� ��

 ��
 ���


�
�
����� 	
��������
�

�� �� �� ��
�� ��
 �
�
����� 	
��������
 �
 ��

 �������
� ��
 #$% ���

�

��� ��
 ��&
�
�� ���
������ �
 ��

 ���
�

� ���� �� �
�
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 	���


�	�����
� ���
�����! �	
������ ��
 ��
 �	�������� Lmax! �&
� � �
��
� �
�
�����
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 ��� 
"	
�� ��
�
���
 ���� ��
 ���� ��	������ �
���� ��� ����

�
�
����� 	
��������
 �� Lmax! ����� �� �� ��
 ��
 ���� ��
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��� ��	��
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 ���� �

� ��
 ��

���� �	���������� �� �
 ���� �� '���
 (�)�  ��

�
 ����� ���
 �� *�� �� 
"	�������� �� ���� ��	��

�
�� �� �
�
����� 	
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 ��
 ��
 �	�������� Lmax� 	
����� �
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� ���� ��
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��� �� �
 ���
� �

 ��
��
 	�
����� ���	�
�� Lmax �� ��
 �
���� ���� ����
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� � �
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���� ��� ������ �� 
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 ��
 ���
���� ��
 �
��
���� �����
� "��� �� 
#����

�� �� ���
 ��� �� ����������� � 	��
 ���
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 ���� � ����� �
�	���
 �� ��
#�
����
��� �
�
������� ��
 ��
#�
��� �� ��
 �����
�

�� �� �

�� ���� � 	��
 ���
 �� ��
 ���
 ������ ��  ��� � ���	
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 ��
#�
��� �� ��
 ���
 ��� �
�
���� �� ���
� �
�� �� ��
��	
� ��
�� ��
#�
��� �� � �
����� ��
�
� �
������ ��� 	��
 ���
� ���� ��
��	
������� �� ��

��
#�
��� ������ ��� �
 �����
��
� �� � ��
��	
������� �� ��
 ���
 ������ ����

��
 ��������� �� �
��
 �� 0� �� �
 ����� �� ��
 ��
#�
��� ������� ������� 
���
�� �
�
��
���� �
 ��� �
� � ���	
��
� ��
����� ����� ��

 ���
 �� ���
���������
�� ��� �������
 	���

�� $����
����
� �
 ��� �
��
 � �
�
� ���� ���� �� ���  ���
��� ��
�
� ���������� ��� ���������� "�
 ���� ��
�
� A� ��

 �
 ��������
� �� ��

�
���� Lmax �� ��
 �������
 ��
������ ��� ��
 �
���� ��
�
� B� ��

 �
 ��������
�
�� ��
 %&� ���� � ���� A < B�

'� ��
 ��
����� ��� �
 �

� �� � ���������
� �����
 x ���� ���
� ��
 ��
�
 1 ��
� ������ 	������� p ���

 ������ ��
 �
�� �� ��
 	�������� 
#��
 �� 0� "�
 ����



���� �� x �� P �� ���� p ∼ U(0, P −1)� "��� �����
 ��
� ������� � �����

 �����
���
� ��
 ��
�
 A ��� p ≤ C ��� B ��� p > C ��� ���� ��() �� �������
 N0/2�
"�
�
���
� ��
 �
�
��
� �����
 ��

y = Dx+ n, *+�,-

��



�� ��������	 
�����
�	�� �	 � ��
������ ���	����

����� n �� ��� �	��� ��
��� n ∼ N (0, N0/2)
 ��� D = diag(λ1, λ2, ..., λP ) �� ���
���
	��� ������ �����������
 ��� ������� 	� ����� ����	���

λi =

{
A if i ≤ C
B if i > C.

�����

��� �������� �� �	 ������� ��� �������	� ����	������ �� ��� �������	 ���� ���
����� �	 ��� ���������� A
 B ��� C ���� ����� ��� �������� �� ��� ������	��
����� ��	 �	��� �� ���	������ H0 ��� H1
 ����� H0 �	�����	��� �	 ��� ���� �����
��� ����������� ��
��� x �� �	� ������� �x = 0� ��� H1 �	�����	��� �	 ��� ����
����� �� �� �������

H0 : y = n ���!��

H1 : y = Dx+ n. ���! �

"	�� ���� ����� �#����	�� ��� ������� �	 �!�$���
%	 �� ���  � ������� ���� ���� ����� H0
 y ∼ N (0, N0/2) ����� ����� H1


y ∼ N (Dx, N0/2I)� %���� x ��� �� ��&�	�� ����	� ��������� p �� ���� ��'�
�	 ��&� � �	��	���� ���	������ ������
 ����	����

��� �������	
 ��	
�
����� ��������������	


����� ����	��
��
�

�� ��� ��&� �
��� ��� "������(����	� ����� �!�$!� �	 �������� PD 
�'�� PFA�
) ������ �	� ���������� �� ��� �������� ����'���	� 	� PD ��� ��	���� �������� �	
*#����	� ������
 ����� ��� ������ �� ������� +���� H0 ��� (,- �� ��������� &�	��
��� 
�'��

p(y;H0) =
1√

(πN0)P
exp

(
−‖y‖

2

N0

)
�����

‖y‖2 =

P∑
i=1

|yi|2. ���.�

/	��'��
 �� �� �����	���  ��	�� H1 ��� � (,- �	�������
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p(y;H1) =

∫
p(y|p;H1)p(p)dp. ���2�

3� 	�� ���� p �� � �������� ����	���� ������ ���� ����	� '���� ��
 �	 �� ���
������� ���� ����
��� ��

p(y;H1) =
1

P

P∑
i=1

p(y|p;H1). ���4�
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 ��

p(y|p;H1) =
1√

(πN0)P
exp

(
− (yp − λp)

2

N0

)
exp

(
−
∑

i �=p y
2
i

N0

)

=

⎧⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎩

1√
(πN0)P

exp
(
− (yp−A)2

N0

)
exp

(
−

∑
i �=p y2

i

N0

)
if p ≤ C

1√
(πN0)P

exp
(
− (yp−B)2

N0

)
exp

(
−

∑
i �=p y2

i

N0

)
if p > C.
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������� ��� ���	�

��� �� ���

p(y|p;H1) =
1√

(πN0)P
exp

(
− (yp − λp)

2 − y2p
N0

)
exp

(
−
∑P−1

i=0 yi
2

N0

)

=
1√

(πN0)P
exp

(
2ypλp − λ2

p

N0

)
exp

(
−‖y‖

2

N0

)
. �����

������ ���  ���
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p(y;H1) =
1

P

P∑
p=1

1√
(πN0)P

exp

(
2ypλp − λ2

p

N0

)
exp

(
−‖y‖

2

N0

)

=
exp

(
−‖y‖2

N0

)
P
√

(πN0)P

P∑
p=1

exp

(
2ypλp − λ2

p

N0

)

=
exp

(
−‖y‖2

N0

)
P
√

(πN0)P

⎡
⎣ C∑

i=1

exp

(
2yiA−A2

N0

)

+

P∑
j=C+1

exp

(
2yjB −B2

N0

)⎤⎦ . ���!"�
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 $
 � ���������
 	���� ��

L(y) =
p(y;H1)

p(y;H0)

=
1

P

C∑
i=1

exp

(
2yiA−A2

N0

)
+

P∑
j=C+1

exp

(
2yjB −B2

N0

)

=
1

P

P∑
i=1

exp

(
2yiλi − λ2

i

N0

)
. ���!!�
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��� ����� H1� ����� �
���� �
�

���� ������ �� ��� ���
�
�� p ��
��� 1 
� x� ��
� ��
�� ��
�� ����� H1�

yi ∼
⎧⎨
⎩
N (A, N0/2) if i = p and p ≤ C
N (B, N0/2) if i = p and p > C
N (0, N0/2) if i �= p.
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2yiλi − λ2
i ∼

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

N
(

A2

N0
, 2A2

N0

)
if i = p and p ≤ C

N
(

B2

N0
, 2B2

N0

)
if i = p and p > C

N
(
−A2

N0
, 2A2

N0

)
if i �= p and i ≤ C

N
(
−B2

N0
, 2B2

N0

)
if i �= p and i > C.
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�� �
�� ��
� μlog 
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�

��� σ2

log

μlog = exp

(
μ+

σ2

2

)
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σ2
log = (exp(σ2)− 1) exp(2μ+ σ2). ������	
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exp(2yiλi−λ2
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LN
[
exp

(
2A2

N0

)
,

(
exp

(
2A2

N0

)
− 1

)
exp

(
4A2

N0

)] if i = p,

and p ≤ C

LN
[
exp

(
2B2

N0

)
,

(
exp

(
2B2

N0

)
− 1

)
exp

(
4B2

N0

)] if i = p,

and p > C

LN
(
1, exp

(
2A2

N0

)
− 1

)
if i �= p,

and p ≤ C

LN
(
1, exp

(
2B2

N0

)
− 1

)
if i �= p,

and p > C.
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���� �
���
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�� ���� ��

E{L(y;H0)} = 1

P
(C + P − C) = 1 �����	�

Var{L(y;H0)} = 1

P 2

⎡
⎢⎣C

⎛
⎝exp

(
2A2

N0

)
− 1

⎞
⎠

+(P − C)

⎛
⎝exp

(
2B2

N0

)
− 1

⎞
⎠
⎤
⎥⎦ . �������

 ���� H1 �� �	�� ��� �	�� ��	� p ≤ C 	�� ��� �	�� ��	� p > C

E{L(y|p ≤ C;H1)} = 1

P

⎛
⎝C − 1 + P − C + exp

(
2A2

N0

)⎞⎠

=
1

P

⎛
⎝P + exp

(
2A2

N0

)
− 1

⎞
⎠ ����!	�

Var{L(y|p ≤ C;H1)} = 1

P 2

⎡
⎢⎣(C − 1)

⎛
⎝exp

(
2A2

N0

)
− 1

⎞
⎠

+ (P − C)

⎛
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(
2B2

N0

)
− 1

⎞
⎠ ����!��

+

⎛
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(
2A2

N0

)
− 1

⎞
⎠ exp

(
4A2

N0
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E{L(y|p ≤ C;H1)} = 1

P

⎛
⎝C − 1 + P − C + exp

(
2B2

N0

)⎞⎠

=
1

P

⎛
⎝P + exp

(
2B2

N0

)
− 1

⎞
⎠ �������

Var{L(y|p ≤ C;H1)} = 1

P 2

⎡
⎢⎣C

⎛
⎝exp

(
2A2

N0

)
− 1

⎞
⎠

+ (P − C − 1)

⎛
⎝exp

(
2B2

N0

)
− 1

⎞
⎠ �������

+

⎛
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(
2B2

N0

)
− 1

⎞
⎠ exp

(
4B2

N0

)⎤⎥⎦ .
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μ = ln(μlog)− 1

2
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(
σ2
log

μ2
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σ2 = ln
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� H0�
μH0

��� σ2
H0
� )���� H1� 

������ �
� �
��������


� ������
� ��� ���� 
�� 
� ��


���� 
� !
������ ����� ��� ���������*

ln(L(y|p ≤ C;H1)) ∼ N (μH1A, σ
2
H1A) ���+,�

�
�� �
� ����
���# ����������� ����
� �������� p ����� ������ ���
� C� ���

ln(L(y|p > C;H1)) ∼ N (μH1B, σ
2
H1B) ���+��

�� �
� �
�!��������# ����� $� �
�� ���� �� !
��� �
 !�
���� ����� p �� ����
���#
����������� ��� �� ��� -��� ������� �
� ��
 ����������
�� �
��������� �
� �����


� �
� ��������� �
��� ���
 
� �
� ����������
�� ���� !�����



��������� ��	
�	����� �� � 
�������� 
����	�� ��

���� ��� ����� 	�
������
� �� ��
��	�
 ����
 ��� �����
����
��
 ����� ������
����� ���
� �
 ���� ���� �� ���� �� �
 ��� ����
����� !"� ��
�� �� �� � ��
���
��
#"
����
 �� �
�� �$���� �� ��� #��� ���� ��� ��
��!�� γ �� 
�� � 	�$�
�
� �
� γ′�
�� ��� PFA #
�� ����%�

PFA =

∫
ln(L(y))>γ′

p(y;H0)dy

= Q

⎛
⎜⎝γ′ − μH0√

σ2
H0

⎞
⎟⎠ . �%����

&
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��"�� �� ��
 ���� ��� γ′ �� � #"
����
 �# PFA

γ′ =
√

σ2
H0

Q−1(PFA) + μH0
. �%����
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 !� ���� ���'"��	 ��

PD =

∫
ln(L(y))>γ′

p(y;H1)dy

=
C

P
Q

⎛
⎜⎝γ′ − μH1A√

σ2
H1A

⎞
⎟⎠ P − C

P
Q

⎛
⎜⎝γ′ − μH1B√

σ2
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⎞
⎟⎠

= α Q

⎛
⎜⎝
√

σ2
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Q−1(PFA) + μH0
− μH1A√

σ2
H1A

⎞
⎟⎠
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⎛
⎜⎝
√
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√
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√
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√
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+
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√
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2(1−α)

)
+ SNR

(
1− SNR

1−α −
ln
(
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